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 natakgninep )1( :iuhategnem kutnu halada ini naitilenep irad naujuT
 naparenep iulalem naiauseynep lanruj narajalebmep iretam adap rajaleb isatserp

aleb isavitom natakgninep )2( ;TGT epit fitarepook narajalebmep ledom  adap raj
 narajalebmep ledom naparenep iulalem naiauseynep lanruj narajalebmep iretam

 .TGT epit fitarepook  
 naitilenep keybuS .salek nakadnit naitilenep halada ini naitilenep sineJ
 .atrakaygoY ,lutnaB ,nahisaK 1 N AMS 1 SPI IX salek awsis 32 halada

naskaleP  gnay sulkis utas malad nakukalid ini salek nakadnit naitilenep naa
 .iskelfer nad ,isavresbo ,nakadnit ,naanacnerep utiay pahat tapme itupilem
 ,aracnawaw ,renoiseuk ,isavresbo edotem nagned nakukalid atad nalupmugneP

em nagned sisilana ataD .isatnemukod nad  nad fitpirksed sisilana nakanuggn
 .fitarapmok sisilana  

 ledom naparenep )1( :awhab nakkujnunem ini naitilenep lisaH
 awsis rajaleb isatserp naktakgninem tapad TGT epit fitarepook narajalebmep

 atarer( nakifingis araces erp - tset  43,46 =   atarer nad tsop - tset  81,74  ; ( 2( .gis -  )deliat
 tapad TGT epit fitarepook narajalebmep ledom naparenep )2( ;)50,0 = α < 000,0 =

( nakifingis araces awsis rajaleb isavitom naktakgninem  naitilenep mulebes atarer
5 = 3 ,19,  naitilenep haduses atarer nad  87,06 =  ; 2( .gis -  )deliat 000,0 =  .)50,0 = α <  
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 TNEMEVORPMI EHT  TNEMEVEIHCA GNINRAEL ’STNEDUTS FO

 SEIRTNE LANRUOJ TNEMTSUJDA NO NOITAVITOM DNA
LAIRETAM  SMAET :GNINRAEL  EVITAREPOOC HGUORHT - SEMAG -

)TGT( TNEMANRUOT  
 

 ehT R hcraese   saw C  stnedutS edarG tnevelE eht ni detcudno  ecneicS laicoS eht fo
lutnaB nahisaK loohcS hgiH roineS etatS enO fo tnemetrapeD  
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 ’stneduts fo tnemevorpmi eht )1( :tuo dnif ot era hcraeser siht fo smia ehT

rtne lanruoj tnemtsujda no tnemeveihca gninrael lairetam sei    evitarepooc hguorht
smaet :gninrael - semag -  gninrael ’stneduts fo tnemevorpmi eht )2( ;tnemanruot

 :gninrael  evitarepooc hguorht lairetam seirtne lanruoj tnemtsujda no noitavitom
smaet - semag - .tnemanruot  

aeser noitca moorssalc a si hcraeser sihT  .hcr  siht fo stnapicitrap ehT
stneduts 32 erew hcraeser   ecneicS laicoS eht fo stnedutS edarG tnevelE fo

lutnaB nahisaK loohcS hgiH roineS etatS enO fo tnemetrapeD .  eno saw erehT
 ,noitca ,gninnalp erew taht segats ruof erew erehT .hcraeser siht fo elcyc

sbo  hcraeser ruof gnisu yb derehtag saw gnirehtag ataD .noitcelfer dna ,noitavre
 .noitatnemucod dna ,weivretni ,eriannoitseuq ,noitavresbo yleman stnemurtsni

  .atad eht ezylana ot sisylana evitarapmoc dna evitpircsed desu rehcraeser ehT  
ser siht fo tluser ehT  fo noitatnemelpmi eht )1( :taht swohs hcrae

 evitarepooc TGT epyt gninrael   tnemeveihca gninrael ’stneduts sevorpmi
erp fo egareva eht( yltnacifingis - tsop fo egareva eht dna 43,46 = tset -  ;47,18 = tset

2( .gis -  < 000.0 = )deliat α itatnemelpmi eht )2( ;)50.0 =  no  gnihcaet evitarepooc fo
TGT epyt gninrael   eht( yltnacifingis noitavitom gninrael ’stneduts sevorpmi

 eht retfa egareva eht dna 19,35 = noitatnemelpmi eht erofeb egareva
2( .gis ;87,06 = noitatnemelpmi -  < 000.0 = )deliat α  .)50.0 =  
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